B 1500 1 (451559 )
i fe 22
T = #F 75 55100004295

LR X SRR T2 D 3 3

T

© ¢ 250mmVPEHET (R HTEK— TR L=171.50m
©¢400mmS PHFHEETL  (RRSOE—Er—v 7 HR) [=10. 50m
©$200mmV PEMET  (EHHFHEA TSR L=126. 80m
+$200mmPRP&EBHHIT L=742.90m
© $200mmVUZEMHHIT 1.=63. 00m
s R —/)V L 351 It
(#AS7 2 #5- 6 BFT, MSL15-2 3 EpT, MSTHEM-5 @, Vg - 1 &P
cBfEBLOETL 90 & BT

- Y 1K

- KEEBR L 15

fwmfs (0 - 75/K) A= 3.8bha




AR 1501

EXIES LD

. B SR 22 B

T = K = 100004345

T = 4 LR R THZD 3 1
- ®200mmVPE HEET L=104. 6m
- ® 20 OmmPRPE Efizk T L=362. 5m
s UR—L T 1 1 &pT

(W72 & 3 &P, #2175 8 &)

T == M = CBMEB LI OETT 6 T

- fHET 1€

A (0« 157K) A=4. 14ha




R 1501

EXIES LD

@Ga B YRk 2 2 4F B
T =% % & 10000440%
T *x 4 HFR B X M T HEZD 1 1

r = #f =

$200MMPRPE R T L=366.5m
< ik—ILT 16 A
BRMERUVET T A20E R
%L — =
KEEBHKRT — =K

FHKEEETE 1.51ha




HRE1ZD1 EXIES LD

e /iy Rk 2 2 4R

T =H %K = 1000045675

T £ 4 IEFERE T 79 LA K A AL

™ # M = B AT ERE T - — K




A1 501 E RIS ONED

e ;3 Rk 2 2 R

T F %K = $10000446%

T =* %4 ERAERE T 22 XRS5
PERET - » « 13

T % #f %




HAH 1501

CHAIEAI )

e i3 SRR 22 AERE
T = & =3 % 10000439 =3
T =+ pa KELBETHE JEHMXESR 02
K& T
U TB#EAR % (U-450, L=600)
WIEREL=27. Om
U ARIEAT % (U-300C, L=600)
WIERL=6. Om
K BT
T =+ iR C:

MIERL=27. Om




HRE1ZD1 EXIES LD

e /iy Rk 2 2 4R

T =H % = 1000044475

I £ 4 | TR i T OO X B

T F O E |HHRAERE 25. Om




HAHE 1501

EXIES LD

i JE Wk 2 2 4R

T =H % = 100004365
T & | KBBHEERERE T DU AT X 0N
T F  # B [KERELT 174. 5m




HAHE 1501

EXIES LD

. B SRk 2 2 4 RE

T = %KX £ $10000453%

T & TR TF=2a— 7z AKETHE

T % W = - HERPEER R >~ B H=7.2m  L=21.5m




HRE1ZD1 EXIES LD

. B SRk 2 2 4 RE
T H % & ¥10000431%
T = % = U =K HER TG B e TR

SNBE S A JAERET —3{

B RE T 5 X
R T e S—
WA LT A




